UBUNGSKONIG
Nachbarzahlen 3

1. Trage die Nachbarzahlen ein.

Nachbartausender

Vorganger 622 000

Zahl 622 154 237 222 235 259 254 821 981 253
Nachfolger
Nachbarzehntausender

Vorganger 980 000
Zahl 985 202 552 541 226 428 202 420 235 423
Nachfolger

Nachbarhunderttausender

Vorganger 100 000
Zahl 125 458 222 659 33259 752 068 452 259
Nachfolger

2. Rechne mit verwandten Aufgaben.

200 + 700 170 + 450 =

2000+ 7000 1700+ 4500 =

20 000 + 70 000

17 000 + 45000 =

200 000 + 700 000 170 000 + 450 000 =

187 + 560 = 387 + 200 =
1870+ 5600 = 3870+ 2000 =

18 700 + 56 000 = 38700 + 20 000 =
187 000 + 560 000 = 387 000 + 200 000 =
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